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11/26(一)補強教學時交回

1. Using Wronskian to find the particular solution,
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, of the following second ODE: 
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, where 
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,積分可得
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,積分可得
[image: image13.wmf]2

6

7

ux

=



[image: image14.wmf]661

1122

16

1

77

p

yuyuyxxxx

--

=+=+=



[image: image15.wmf]61

12

1

cp

yyycxcx

-

=+=++


Quiz 2007-07s.doc 2007/11/22yu 製表


_1257257000.unknown

_1257257431.unknown

_1257257480.unknown

_1257257642.unknown

_1257260175.unknown

_1257257600.unknown

_1257257459.unknown

_1257257257.unknown

_1257257407.unknown

_1257257135.unknown

_1257257242.unknown

_1257257117.unknown

_1257157706.unknown

_1257157714.unknown

_1257157691.unknown

